PracticeProblemson the RelationshipetweerKinetics
andEquilibrium

1. Supposehat,for theelementaryeaction

Ky
A+B—C,
k-1
ki = 1.4 x 10~3L mol~1s~1 andthe equilibriumconstanK = 1.2 x 10'°. Whatis k 1?

Notes: Watchyour units. For reasonsavhich we shall seelater, equilibrium constantdhave
no units, but for the sale of figuring out the units of k_1, pretendthatthis one hasunits of
L/mol.

2. Considetthereactionmechanism

A+B = C,

C+A <= D.

(a) ldentify eachspeciesappearingn this mechanisnasa reactantproductor intermedi-
ate.

(b) Whatis theoverallreaction?
(c) Write down acompletesetof mass-actiomateequationgor this mechanism.

(d) Relatetheequilibriumconstantor theoverallreactionto theelementaryateconstants.
Hint: You only needtwo of the mass-actiorequationslUsethe simplesttwo.



